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BRRE

40  print "' this program computes the factoria]l of "
50  print ' a given number, operation is limited "'
60  ptint '" by the largest number your computer can "

70  ptint " handle_ only integers are valid, "

80  print . print

90 input "' enter the number?' ;n

100 print ¢ print : piint

110 xi=1

120 for k=1ton

130 xf=xfsk

140 next k

150 oprint ny''y = ' opxf

160 print ¢ print : input ""do you have another numbers'' ;a $
170 if left$(a$,1) =" y "then 80

180 end

LHEH"

this program computes the factorial of

a given number, operation is limited

by the largest numbet your computer can
handle, only integers are valid,

enter the number 7 9

91= 362880

do you have another numbei? n
Ready

§1.2 By &

B L1 FEN EZ R R AE T S PLRAL B B R, KRB Bt B
MEBRBITHERAT 10” RS 2HRH . 2BFEE—TEF, ETEFASRDS
10 KRGO, SRR T I E RS H RN T (171402160)

NTIHARE, EEABESNE print 2R EGEROETIHERNG,. BHEN LB FET &
THNER,
«FIEW M Buoker, “BIEy EMIIEREE, » Elecironic DesigncApril 1971), P 86 &%

[ z [



FIRT— ¥ —#, BRI EAT 1303840, 25, 17150 BARTHER & 8% X
R LY 121 X B AR VR T LU AR, T AT — R TR TR 121 B L
i ¥ 4

BEFEs

40 print "' this program will perform factorial"

50 print "' calculation whose results are much"

60 print ' larger than 1039, a value that over-"
70  print "' Joads most home computers. just enter "
80 print "' the number when asked,"

90 print : print : print

100 input ' enter the number : "'3n

105 print : print : print

110 e=90

1i5 f=1

120 for i=2 ton
130 f=f»i

140 if f£(1e5 then 170

150 f=f%1e-5

160 e=e+5

170 next i

175 oprint : print : print

180 print ng'y=" f ;'"times"
185 print

190 print '"10 to the''se; ""power "
195 oprint : print

200 print : print : input "' do you have another number; '';a$
205 pint ¢ print

210 if 1eft$(a$,1) ="y " then 100
220 end

LBIEN
this program will perform factorial
calculation whose results are much
larger than 10739, a value that over-
loads most home computers, just enter
the number when asked.

" enter the number : 35
351 = 1.033314796639 times



10 to the 40 power .

do you have another number: y
enter the number : 121

121 1= 8.094298525273 times
10 o the 200 power.

do you have another numbers n
Ready

§1.3 # 4

wHES I, n AREG S, B R BHES 05 8 R A B R — E AT, 7 5%
BRRLF A I — AR P SRR EE, Q12 A% 3 A—EHITIE RS, Boh, HE
B 638 {5 2R GE 4 DR IR K 90 RS (A TE P 4830 T R '

ATEP BRI AR A, FANTERFTUREE, REIAE,

BlimzASTE P HRIN 3 AHR— WA LS T

C:; =121/31(12-3)1) =220
WHEA S —E AR
C'=ni/(ri(m=nyy)

AaWHHEAXSHIM AARW X ET AT EAR PS8 L8N T i B, -
BRI TSR AEAT220 260 TR P BUh AT, AR NSRBI B EEx—&
TERF. AR RN OEETHRENEE,

EFiREA

40  print '"'this program computes the combinations'
50 print ""of 'n' objects taken 'r' at a time "'

60 print ¢ print sprint

70  input "'enter number of objects: 'yn

H;r

80 print : input "'enter number per group :
90 print ¢ print : prinf

100 if n(r then print "' input error-n{r "' : goto 60
110 if {0 then print " input error-r{0"' : goto 60
120 x=n

130 gosub 220

140 nn=xf

150 x=n-t.

160 gosub 220

170 nar=xf



172 x=t¢

174 gosub 220

176 rr=xt

180 c=int (an/nr/rr+ 5)

185 print : print : print

190 print ' there are '';¢;'"' combinations of'
195 print

200 print n;'" objects taken "jr;"
210 goto 270

220 xf=1

230 for k=1 to x

240 xf=k«xt

250 next k

260 return

270 end

at a time, "

3 IE W

this program computes the combinations
of ' n ' objects taken ' r ' at a time,
enter number of objects: 12

enter number per group: 3

there are 220 combinations of

12 objects taken 3 at a time.

Ready

§1.4 “Aawiegzd

FPE 1.8 1 70 SRR V040 2 B 5050 20 B0k N B — s T, R T % %
RTGT8, WAHSIIEAHOK, 40— i R R

ARIFR B WIS AL R 2, BRIERE RS RA S BN S A &
T T BRI I e 3 n BTN TR 0 TE 20 K IO AS, TSR0 5 9
®I=1, 8.

K+1 K+1

-
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3 i 1)
40 print "' this program will calculate combina-"'
50 print "' tions without causing an ovetflow un-"'

55 print ' less the final answer itself is too big"
6C print " for the computer, 'n' as Jaige as 120 "
65 print ' can be used,"

70 print : print : print

80 input " enter number of objects:''yn

85 print ¢ input "' enter number of groups:'; k
90 print : print ¢ print

100 # n(2#k then 230

110 b0=n

120 for j=2 to k

130 bl=Dbo«* ( ( n+1-1)/j)

140 bo=bi

150 mnext j

190 gosub 290

220 goto 310

230 l=n-k

240 s0=k+1

250 for i=2 tol

260 s1=s0=* (k+1i)/i

270 s0=sl

280 next i

285 bl=3s1 : gosub 290

286 goto 310

290 print "'there are '""yb1;s ''combinations of "

300 print : print n3'" objects taken "sk;'' at a time, "
310 end

LHER
this program will calculate combina-

6




tions without causing an overflow un-

Jess the final answer itself is too big

for the computer, 'n' as large as 120

can be used,

enter number of objects: 120

enter number of groups: 23

there are 2_.690029448325¢ + 24 combinations of
120 objects taken 23 at a time,

Ready

§1.5 BAXEHFER

WARERFRERARTRY “HEHY , EXLN:
A~B=141|Blcosa

(WRBEMPI IR REZ M Q%ﬁéaﬁﬁ%ﬁa) s SRR ARRE .

ATFEMAFdTRRER, HAdEfn,

A* B = (X4)(XB) + (YA) (YB) + (ZA4) (ZB)

M. A=X4;+YA)+7Z4%y B=XB;+YB3+ZB}

R A0 R B B AR, IR “%siﬁfﬁ??’ MARBIR R, % WX
MREREHBEMN.

EBFRp
40 print "' this program calculates the scalar pro-"
50 print " duct of two vectors, "

60 print & print : print

70 input " enter vector 1 (X,¥,2)9'"yx1,y1,z1

80  print : input "' enler vector 2 (X,y,7)9''sx2,V2,22
90 print : print

100 s=x1*x2+yl *y2+2z] %22

110 print " the scalar product is ";s

120 end

KPlLER

this program calculates the scalar pro-
duct of iwo vectors,

enter vector 1 (x,y,z) ¢ 2,3,4

enter vector 2 (x,y,z) 7 -3,5,0

the scalar product is 9

Ready



§1.6 WAREHHER

5HAKBHRERAR, HARBRHSBIN—RE, MXERBEE SRR R
PR Z R RUBRBERAMIEL, P
|Ax Bl=|4llB|sina

WRENRBERNTAEE THREHBKEE, REXRB=A0ET LB UTART
H

X=Y1#%22-Z1%Y2

Y=Z1+xX2-X1%22

Z=X1%Y2-Y1 X2
HAPFHAREEN:

A2=X15 413+ 21y A.=X,3+Y, ) +Z, k%

I HAT 100 2 120 345 L B8

BRiKg
40  print. "' this program calculates the cross pro-''
50 print "' duct of two vectors "

60 print = print ¢ print

70 input '' enter vector 1 (x,v,2)9"'3x1,¥1,z1

80 print : input ' enter vector 2 (x,¥,z)?"'sx2,v2,22
90 print : print : print

100 x=yl#z2-2z1%y2

110 y=z1 % x2—~x] % z2

120 z=x1 %»y2-yl % x2

130 oprint ' the cross product is:"'

140 pring

150 print “X:";x," y="yy;" z=""32z
160 end

5 B1iE

this program calculates the cross pro-
duct of two vectors

enter vector 1 (x,y,z)? 2,3,4
enter vector 2 (x,y,z)7 -3,5,0

the cross product is:

x=-20 y=-12 z=19

Ready



